{2%4+2=110

123%$443-1 410

1234x9+4- 14410

R=—0

———
1X9+1-40

12345x4+5=- 111140

423456X9+ 621111110

9x98t+F-94

48x9+6 - 839

48+x445-8% 88

9876 X9t4=88488

48165 x9+3- 898838

487654 X+2-8983 888

X8+1-=9

%8 +2:98

1253 8+3-98%

1234%8t4-98%

345x8+5-98F6 5

423456x8+6-99%65Y

A4153:-2%

s 6ot

{depahor

;33°}34-




(>M', )

Hi:;_ ]‘l.i) ALy A . AD —

| o | /T LE

: : l = g
Lo [Ty
‘ ] 118 1 Y J

T [

d,z,mgtib H‘)Q nmeou. &{'PLQL();CA

R S 3o () b, of Mo&dm‘hxvh
S in Yesma of v = WXBtY = S

So 5= p22FY

= JnY

i) LS figuie = ASY34Y o U el hubick,
T ) Yo Piguses Yoxzed - 199 mabihabeokae





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

